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• d`i;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr iz'u 27 gSaA  

Please make sure that the printed question paper are contains 27 

questions. 

• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsV lsV lsV lsV dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B 
ij fy[ksaA 

The Code No. and Set on the right side of the question paper should be 

written by the candidate on the front page of the answer-book. 

• d`i;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

Before beginning to answer a question, its Serial Number must be written. 

• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 

Don't leave blank page/pages in your answer-book. 

SET : A 
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• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk 
mÙkj u dkVsaA 

Except answer-book, no extra sheet will be given. Write to the point and do 

not strike the written answer. 

• ijh{kkFkhZ viuk jksy ua0 iz'u-i= ij vo'; fy[ksaA 

Candidates must write their Roll Number on the question paper. 

• d`i;k iz'uksa ds mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds ijh{kk ds ijh{kk ds ijh{kk ds 
mijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA 

Before answering the question, ensure that you have been supplied the 

correct and complete question paper, no claim in this regard, will be 

entertained after examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %        

General Instructions : 

        (i)    lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

            All questions are compulsory.    

        (ii)    oLrqfu"B iz'uksa ds lgh lgh lgh lgh fodYi    fy[ksaA 

            Write the correct option in objective type questions. 

  (iii) nh?kZ mÙkj okys iz'uksa esa vkarfjd fodYi dk izko/kku gSA 

   Internal choice has been provided in long answer type questions. 

  (iv) izR;sd iz'u ds vad mlds lkeus n'kkZ;s x;s gSaA 

   Marks of each question are indicated against it. 
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[k.M [k.M [k.M [k.M –    vvvv    
    SECTION – A  [ Marks : 20 

¼¼¼¼HkkSfrd foKkuHkkSfrd foKkuHkkSfrd foKkuHkkSfrd foKku½½½½ 
    (Physics)      

  1. nwj&n`f"V nks"k esa ughaughaughaugha fn[kkbZ nsrh gSa % 1 

 (A) nwj dh oLrq,¡  

 (B) fudV dh oLrq,¡ 

 (C) fofHkUu jaxksa dh oLrq,¡  

 (D) buesa ls dksbZ ugha 
 In Hypermetropia, a person is not able to see : 

 (A) Distant objects  

 (B) Nearby objects 

 (C) Objects of different colors 

 (D) None of these 

  2. lw;ksZn; rFkk lw;kZLr ds le; lw;Z rFkk mlds vklikl ds vkdk'k dk jDrkHk izrhr gksus dk 
eq[; dkj.k de rjax&nS?;Z ds izdk'k dk ------------- gSA   1 

 (A) ijkorZu (B) viorZu 

 (C) izdh.kZu (D) buesa ls dksbZ ugha 

 At the time of sunrise and sun-set, the cause of reddening of sun & its 

surroundings is due to the …………. of short wave length of light. 

 (A) Reflection (B) Refraction 

 (C) Scattering (D) None of these 
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  3. fo|qr ÅtkZ ds O;kikfjd ek=d ,d fdyksokV ?kaVk (1 kWh) dk eku gS %   
 1 

 (A) 3.6 × 10
6
 okV lsds.M 

 (B) 3.6 × 10
6
 twy 

 (C) (A) rFkk (B) nksuksa 

 (D) buesa ls dksbZ ugha 

 Commercial unit of electrical energy one kilowatt hr. (1kWh) is 

equivalent to : 

 (A) 3.6 × 10
6
 Watt second  

 (B) 3.6 × 10
6
 J 

 (C) Both (A) and (B)  

 (D) None of these 

  4. fdlh Hkh HkkSfrd vFkok jklk;fud izØe esa dqy ÅtkZ % 1 

 (A) c<+ tkrh gS (B) ?kV tkrh gS 

 (C) vifjofrZr jgrh gS (D) buesa ls dksbZ ugha 

 In any physical or chemical process, the total energy : 

 (A) increases (B) decreases 

 (C) remain unchanged (D) none of these 

  5. ÅtkZ ds vkn'kZ òksr esa D;k xq.k gksrs gSa \  2 

 What are the properties of a good source of Energy ? 

  6. ,d fo|qr ySEi ftldk izfrjks/k 20 Ω gS rFkk ,d 8 Ω izfrjks/k dk pkyd 8 V dh cSVjh ls 
Js.kh Øe esa la;ksftr gS % 2 
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 (a) ifjiFk dk dqy izfrjks/k rFkk 

 (b) ifjiFk esa izokfgr fo|qr /kkjk dks ifjdfyr dhft,A 

 A lamp of resistance 20 Ω and a conductor of resistance 8 Ω are 

connected with a battery of   8 V in series. Calculate the : 

 (a) total resistance in the circuit  

 (b) current flowing through the circuit 

  7. vkius i;kZoj.k dks cpkus ds fy, rhu izdkj ds 'R' ds fo"k; esa rks vo'; lquk gksxk % 
  2 

 de mi;ksx (Reduce), iqu% pØ.k (Recycle) vkSj iqu% mi;ksx (Reuse)A ßde mi;ksxÞ 
dk o.kZu foLrkj ls djsaA 

 You must have come across the three 'R's to save the environment : 

 Reduce, Recycle and Reuse. Explain Reduce in detail. 

  8. (a) ysal dh {kerk D;k gksrh gS \ fdlh ysal dh ,d Mk;ksIVj (1D) {kerk dks ifjHkkf"kr 
dhft,A 2 

  What is power of a Lens ? Define one Dioptre (1D) power of a lens. 

 (b) dksbZ oLrq vory niZ.k ds oØrk dsanz (c) ij fLFkr gSA ml oLrq ds izfrfcac dh fLFkfr] 
lkbt+ rFkk izÑfr dk fp= cukb;sA   2 

  An object is situated at the centre of curvature (c) of a Concave 

Mirror. Make a ray diagram of the position, size and nature of the 

image of that object.  

  9. ,d izR;korhZ fo|qr /kkjk (a. c.) tfu= ds fl)kar] lajpuk rFkk dk;Zfof/k dk foLr`r o.kZu 
dhft,A 6 
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 Explain in detail, the principle, construction and working of an 

alternating current (a.c.) generator, in detail. 

vFkokvFkokvFkokvFkok    
OR 

 (a) fdlh NM+ pqacd ds pkjksa vksj pqacdh; {ks= js[kkvksa dks vkjsf[kr dhft,A  
 2 

  Draw the magnetic lines of force around a bar magnet.   

 (b) ifjukfydk ls vkidk D;k vfHkizk; gS \ ,d ifjukfydk esa izokfgr fo|qr /kkjk ds 
dkj.k pqacdh; {ks= dks vkjsf[kr dhft,A ifjukfydk ds mi;ksx ij Hkh izdk'k Mkfy,A 

  What is a Solenoid ? Draw the magnetic lines of force around a 

current carrying solenoid. Also throw some light on the use of 

solenoid.  

[k.M [k.M [k.M [k.M –    cccc    

    SECTION – B  [ Marks : 19 

¼jlk;u foKku½¼jlk;u foKku½¼jlk;u foKku½¼jlk;u foKku½ 

    (Chemistry)   

10. 'olu fuEu esa ls fdl izdkj dh vfHkfØ;k gS \ 1 

 (A) Å"ek{ksih (B) Å"ek'kks"kh 

 (C) vip;u (D) vo{ksi.k 

 What type of reaction Respiration is ? 

 (A) Exothermic (B) Endothermic 

 (C) Reduction (D) Precipitation 
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11. vip dk mipkj djus ds fy, fuEu esa ls fdl vkS"kf/k dk mi;ksx gksrk gS \ 1 

 (A) ,aVhck;ksfVd ¼izfrtSfod½ (B) ,uSytsfld ¼ihM+kgkjh½ 

 (C) ,sUVSflM (D) ,aVhlsfIVd ¼izfrjks/kh½ 

 Which one of the following medicine is used for treating Indigestion ? 

 (A) Antibiotic (B) Analgesic 

 (C) Antacid (D) Antiseptic 

12. fuEu esa ls fdl rRo esa nks dks'k gSa rFkk nksuksa bysDVªkWuksa ls iwfjr gSa \  1 

 (A) gkbMªkstu (H) (B) cksjkWu (B) 

 (C) ghfy;e (He) (D) fuvkWu (Ne) 

 Which of the following elements has two shells, both of which are 

completely filled with  electrons ? 

 (A) Hydrogen (H) (B) Boron (B) 

 (C) Helium (He) (D) Neon (Ne) 

13. fuEu vfHkfØ;k ds fy, larqfyr jklk;fud lehdj.k fyf[k, % 2 

 csfj;e DyksjkbM $ ,syqfefu;e lYQsV → csfj;e lYQsV $  

,syqfefu;e DyksjkbM 

 Write the balanced chemical equation for the following reaction : 

 Barium chloride + Aluminium sulphate 
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 → Barium sulphate + Aluminium chloride 

14. vklfor ty fo|qr dk pkyd D;ksa ugha gksrk tcfd o"kkZ ty gksrk gS \ 2 

 Why does distilled water not conduct electricity, whereas rain water 

does ? 

15. esUMsyhQ dh vkorZ lkj.kh dk mi;ksx dj fuEufyf[kr rRoksa ds vkWDlkbM ds lw= dk vuqeku 

dhft, % 2 

K, C, Al, Si 

 Use Mendeleef's Periodic Table to predict the formulae for the oxides of 

the following elements : 

K, C, Al, Si 

16. /kkrqvksa ds lEcU/k esa fuEu dh O;k[;k dhft, % 1 × 4 = 4 

 Explain the following in context of metals : 

 (i) vk?kkro/;Zrk 

  Malleability 

 (ii) rU;rk 

  Ductility 

 (iii) Å"ek ,oa fo|qr ds lqpkyd 
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  Conductor of heat and electricity 

 (iv) /okfud 

  Sonorous 

17. (a) vkWDlhdkjd ls vki D;k le>rs gSa \ ,FkukWy ls ,FksukWbd vEy esa ifjorZu dks 

vkWDlhdj.k vfHkfØ;k D;ksa dgrs gSa \ blds fy, jklk;fud lehdj.k Hkh nhft,A 3 

  What do you mean by Oxidizing agent ? Why is conversion of 

ethanol to ethanoic acid an oxidation reaction ? Give chemical 

reaction also. 

 (b) ,YdksgkWy ,d LoPN bZa/ku gSA fVIi.kh dhft,A 2 

  Alcohol is a clean fuel. Comment. 

 (c) C;wVsukWu esa dkSu&lk izdk;kZRed lewg gS \ 1 

  Name the functional group present in Butanone. 

vFkokvFkokvFkokvFkok    

OR 

 (a) ,FksukWbd vEy dh fuEu ds lkFk vfHkfØ;k ds fy, jklk;fud lehdj.k nhft, % 1 × 

4 = 4 

  (i) NaOH 

  (ii) Na2CO3 
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  (iii) NaHCO3 

  (iv) CH3CH2OH vEy dh mifLFkfr esa 

  Give chemical equation for the reaction of ethanoic acid with 

following : 

  (i) NaOH 

  (ii) Na2CO3 

  (iii) NaHCO3 

  (iv) CH3CH2OH in the presence of acid 

 (b) fuEu esa ls dkSu ls gkbMªksdkcZu ladyu vfHkfØ;k nsaxs \ 2 

   22638362 ,,, HCHCHCHC  

  Which of the following hydrocarbons undergo addition reaction ? 

   22638362 ,,, HCHCHCHC  

[k.M [k.M [k.M [k.M – llll    

    SECTION – C  [ Marks : 21 

¼tho foKku½¼tho foKku½¼tho foKku½¼tho foKku½    

                (Life Science)      

18. fuEufyf[kr esa ls dkSu&lk izkÑfrd ikfjra= ughaughaughaugha gS \ 1 

 (A) ou  (B) rkykc 

 (C) >hy  (D) [ksr 
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 Which of the following is not a natural Ecosystem ? 

 (A) Forest (B) Pond 

 (C) Lake  (D) Crop field 

19. xHkZ/kkj.k jksdus ds fy, fuEufyf[kr esa ls fdlesa dkWij&Vh dks LFkkfir fd;k tkrk gS \ 1 

 (A) vaMokfgdk (B) ;ksfu 

 (C) xzhok  (D) buesa ls dksbZ ugha 

 Copper T is placed in which of the following to prevent the pregnancy ? 

 (A) Oviduct (B) Vagina 

 (C) Cervix (D) None of these 

20. fuEufyf[kr esa ls dkSu&lk i'pefLr"d dk Hkkx ughaughaughaugha gS \ 1 

 (A) ikWUl  (B) esMqyk 

 (C) vuqefLr"d (D) buesa ls dksbZ ugha 

 Which of the following is not the part of hind brain ? 

 (A) Pons  (B) Medulla 

 (C) Cerebellum (D) None of these 

21. ,fClfld vEy ds D;k dk;Z gSa \ 1 

 What are the functions of Abscisic acid ? 
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22. Loiks"kh lkSj izdk'k esa fufgr ÅtkZ dks xzg.k djds -------- ÅtkZ esa cny nsrs gSaA 1 

 The autotrophs capture the energy present in sunlight and convert it 

into ………. energy. 

23. ikS/kksa esa fu"kspu ds i'pkr gksus okys ifjorZuksa ds ckjs esa fyf[k,A 2 

 Write about the changes occur after fertilization in plants. 

24. fofHkUu thoksa esa fo[kaMu fof/k ds ckjs esa fyf[k,A 2 

 Write about the process of fission in various organisms. 

25. ifj/kh; raf=dk ra= fdls dgrs gSa \ blds fofHkUu Hkkx fyf[k,A 2 

 What is peripheral nervous system ? Write its various parts. 

26. esaMy ds iz;ksxksa }kjk dSls irk pyk fd y{k.k izHkkoh vFkok vizHkkoh gksrs gSa \ 4 

 How do Mendel's experiments show that traits may be dominant or 

recessive ? 

27. (a) ekuo ân; dk O;oLFkkRed dkV n`'; dk ukekafdr fp= cukb,A 3 

  Draw a well labelled diagram of schematic sectional view of 

Human Heart. 
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 (b) /keuh rFkk f'kjk esa vUrj Li"V dhft,A 3 

  Differentiate between Artery and Vein. 

vFkokvFkokvFkokvFkok    

OR 

 thoksa esa Xywdkst+ dk fofHkUu iFkksa }kjk fo[kaMu dk o.kZu   dhft,A   

  

 Describe various pathways of glucose breakdown in organisms. 

SSSS     
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CLASS : 10th (Secondary)       Code No. 3505 
Series : Sec. M/2018 

Roll No. 

foKkufoKkufoKkufoKku    
SCIENCE 

(Physics, Chemistry and Life Science) 

(Academic/Open) 

[ fgUnh ,oa vaxzsth ek/;e ] 

[ Hindi and English Medium ] 

(Only for Fresh/Re-appear Candidates) 

le; : 3 ?k.Vs ]            [ iw.kk±d : 60 
Time allowed : 3 hours ]  [ Maximum Marks : 60 

• d`i;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr iz'u 27 gSaA  

Please make sure that the printed question paper are contains 27 

questions. 

• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsV lsV lsV lsV dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B 
ij fy[ksaA 

The Code No. and Set on the right side of the question paper should be 

written by the candidate on the front page of the answer-book. 

• d`i;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

Before beginning to answer a question, its Serial Number must be written. 

• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 

Don't leave blank page/pages in your answer-book. 

SET : B 
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• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk 
mÙkj u dkVsaA 

Except answer-book, no extra sheet will be given. Write to the point and do 

not strike the written answer. 

• ijh{kkFkhZ viuk jksy ua0 iz'u-i= ij vo'; fy[ksaA 

Candidates must write their Roll Number on the question paper. 

• d`i;k iz'uksa ds mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds ijh{kk ds ijh{kk ds ijh{kk ds 
mijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA 

Before answering the question, ensure that you have been supplied the 

correct and complete question paper, no claim in this regard, will be 

entertained after examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %        
General Instructions : 

        (i)    lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    
            All questions are compulsory.    

        (ii)    oLrqfu"B iz'uksa ds lgh lgh lgh lgh fodYi    fy[ksaA 
            Write the correct option in objective type questions. 

  (iii) nh?kZ mÙkj okys iz'uksa esa vkarfjd fodYi dk izko/kku gSA 
   Internal choice has been provided in long answer type questions. 

  (iv) izR;sd iz'u ds vad mlds lkeus n'kkZ;s x;s gSaA 
   Marks of each question are indicated against it. 

[k.M [k.M [k.M [k.M –    vvvv    
    SECTION – A  [ Marks : 20 
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¼¼¼¼HkkSfrd foKkuHkkSfrd foKkuHkkSfrd foKkuHkkSfrd foKku½½½½ 
    (Physics)      

  1. fdlh O;fDr ds us= ds fØLVyh; ysal dk /kqa/kyk gksuk] us= ds fdl jksx dks n'kkZrk gS \ 1 

 (A) eksfr;kfcan  
 (B) jaxkU/krk 
 (C) (A) rFkk (B) nksuksa 
 (D) buesa ls dksbZ ugha 

 The cloudiness or milky condition of the crystalline lens of a person 

shows which defect of the eye : 

 (A) Cataract 

 (B) Colour Blindness 

 (C) Both (A) & (B) 

 (D) None of these 

  2. rkjksa ds fVefVekus dk eq[; dkj.k gS izdk'k dk % 1 

 (A) ijkorZu (B) viorZu 

 (C) izdh.kZu (D) buesa ls dksbZ ugha 

 Twinkling of stars is mainly due to : 

 (A) Reflection (B) Refraction 

 (C) Scattering (D) None of these 

  3. fuEu esa ls dkSu fo|qr 'kfDr dks ughaughaughaugha n'kkZrk gS \ 1 

 (A) P = VI 
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 (B) P 
t

Q
V=  

 (C) RIP 2
=  

 (D) RtIP 2
=  

 Which of the following do not represent electric power ? 

 (A) P = VI 

 (B) P 
t

Q
V=  

 (C) RIP 2
=  

 (D) RtIP 2
=  

  4. fuEu esa ls dkSu ÅtkZ dk ijaijkxr òksr ughaughaughaugha gS \ 1 

 (A) tSo ek=k (B) lkSj ÅtkZ 

 (C) iou ÅtkZ (D) buesa ls dksbZ ugha 

 Which of the following is not a conventional source of energy ? 

 (A) Bio-mass (B) Solar energy 

 (C) Wind energy (D) None of these 

  5. thok'eh bZa/ku dh D;k gkfu;k¡ gSa \ la{ksi esa o.kZu dhft,A 2 

 What are the disadvantages of fossil fuel ? Explain in brief. 
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  6. 400 W dk dksbZ fo|qr jsfÝtjsVj 10 ?kaVs izfrfnu pyk;k tkrk gSA 4.00 #i;s izfr fdyksokV 

?kaVs dh nj ls bls 30 fnu pykus esa ÅtkZ dh ykxr dks ifjdfyr dhft,A  2 

 An electric refrigerator of power 400 W is allowed to run 10 hrs. per day. 

What is the cost of energy to operate it for 30 days at Rs. 4.00 per kWh 

? 

  7. vkius i;kZoj.k dks cpkus ds fy, rhu izdkj ds 'R' ds fo"k; esa rks vo'; lquk gksxk % 

  2 

 de mi;ksx (Reduce), iqu% pØ.k (Recycle) vkSj iqu% mi;ksx (Reuse)A ßiqu% pØ.kÞ dk 

o.kZu foLrkj ls djsaA 

 You must have come across the three 'R's to save the environment : 

 Reduce, Recycle and Reuse. Explain Recycle in detail. 

  8. (a) dksbZ oLrq mÙky ysal ds eq[; Qksdl (F ) rFkk izdkf'kd dsanz (O) ds e/; fLFkr gSA ml 

oLrq ds izfrfcac dh fLFkfr] lkbt+ rFkk izÑfr dks js[kkfp= ds }kjk n'kkZb,A 2 

  An object is placed at a position in between the main focus (F ) and 

the optical centre(O) of a convex lens. Draw a ray diagram showing 

the position, size and nature of the image formed. 

 (b) ysal dh {kerk D;k gksrh gS \ fdlh ysal dh ,d Mk;ksIVj (1D) {kerk dks ifjHkkf"kr 
dhft,A 2 

  What is the power of a Lens ? Define one Dioptre (1D) power of a 

lens. 
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  9. ,d fo|qr eksVj ds fl)kar] lajpuk rFkk dk;Zfof/k dk foLr`r o.kZu dhft,A 6 

 Explain in detail, the principle, construction and working of an electric 

motor. 

vFkokvFkokvFkokvFkok    

OR 

 (a) ¶ysfeax dk oke gLr fu;e D;k gS \ le>kb,A 2 

  What is Fleming's left hand rule ? Explain. 

 (b) oS|qr pqacdh; izsj.k ls vkidk D;k vfHkizk; gS \ pkyd esa izsfjr fo|qr /kkjk dh fn'kk 
Kkr djus esa ¶ysfeax ds nf{k.k&gLr fu;e dk D;k mi;ksx gS \ le>kb,A 4 

  What do you mean by electromagnetic induction ? Explain the use 

of Fleming's right hand rule in finding the direction of current 

induced in the conductor. 

[k.M [k.M [k.M [k.M –    cccc    

    SECTION – B  [ Marks : 19 

¼jlk;u foKku½¼jlk;u foKku½¼jlk;u foKku½¼jlk;u foKku½ 

    (Chemistry)   

10. rsy ,oa olk;qDr [kk| inkFkksZZa dks ukbVªkstu ls izHkkfor D;ksa fd;k tkrk gS \ 1 

 (A) mudk vip;u jksdus ds fy,A  

 (B) mudk mip;u jksdus ds fy,A 

 (C) mudks dhVksa ls cpkus ds fy,A 

 (D) mudks pwgksa ls cpkus ds fy,A 
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 Oil and fat containing food items are flushed with nitrogen. Why ? 

 (A) To prevent their reduction. 

 (B) To prevent their oxidation. 

 (C) To protect them from insects.  

 (D) To protect them from rodents. 

11. 3NaHCO  dk izpfyr uke D;k gS \ 1 

 (A) ftIle  (B) fojatd pw.kZ 

 (C) csfdax lksMk (D) /kksus dk lksMk 

 What is common name of 3NaHCO  ? 

 (A) Zypsum (B) Bleaching Powder 

 (C) Baking Soda (D) Washing Soda 

12. fuEu esa ls fdl rRo esa nwljs dks'k esa igys dks'k ls nksxqus bysDVªkWu gSa \ 1 

 (A) vkWDlhtu (O) (B) ukbVªkstu (N) 

 (C) ¶yksjhu (F) (D) dkcZu (C) 

 Which of the following elements has twice as many electrons in its 

second shell as in its first shell ? 

 (A) Oxygen (O) (B) Nitrogen (N) 
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 (C) Fluorine (F) (D) Carbon (C) 

13. mu fo;kstu vfHkfØ;kvksa ds ,d&,d lehdj.k fyf[k,] ftuesa Å"ek vkSj izdk'k ds :i esa 

ÅtkZ iznku dh tkrh gSA 2 

 Write one equation each for decomposition reactions where energy is 

supplied in the form of heat and light. 

14. vEy dks ruqÑr djrs le; ;g D;ksa vuq'kaflr djrs gSa fd vEy dks ty esa feykuk pkfg,] 

u fd ty dks vEy esa \ 2 

 While diluting an acid, why is it recommended that the acid should be 

added to water and not water to the acid ? 

15. fuEu esa ls lcls mfpr fodYilcls mfpr fodYilcls mfpr fodYilcls mfpr fodYi Nk¡fV, % 24
2
1

=×  

 (i) lcls T;knk la;kstdrk okyk rRo % Na, Mg, Al 

 (ii) lcls NksVk ijek.kq % Li, Na, K 

 (iii) lcls T;knk fo|qr _.kkRedrk okyk rRo % N, O, F 

 (iv) lcls de /kkfRod rRo % Li, Be, B 

 Identify the most appropriate option in the following : 

 (i) Element with maximum valency : Na, Mg, Al 
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 (ii) Smallest atom : Li, Na, K 

 (iii) Most electronegative element : N, O, F 

 (iv) Least metallic element % Li, Be, B 

16. (i) feJ /kkrq vkSj veyxe esa vUrj Li"V dhft,A 2 

  Differentiate between Alloy and Amalgam. 

 (ii) FkfeZV vfHkfØ;k D;k gS \ blds fy, jklk;fud lehdj.k nhft,A 2 

  What is thermite reaction ? Give chemical equation for it. 

17. (i) lkcqu ,oa viektZdksa esa nksnksnksnks vUrj crkb,A 2 

  Give two differences between soaps and detergents. 

 (ii) letkrh; Js.kh vkSj izdk;kZRed lewg dks ifjHkkf"kr dhft,A 2 

  Define homologous series and functional group. 

 (iii) lar`Ir ,oa vlar`Ir gkbMªksdkcZu D;k gSa \ 2 

  What are saturated and unsaturated hydro-carbons ? 

vFkokvFkokvFkokvFkok    

OR 
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 dkcZu ds nksnksnksnks xq.k/keZ dkSu&ls gSa] ftuls dkcZu ;kSfxdksa dh ,d fo'kky la[;k cu tkrh gS \ 

o.kZu dhft,A 6 

 Explain two properties of carbon atom which lead to the huge number 

of carbon compounds. 

    [k.M [k.M [k.M [k.M – llll    

    SECTION – C  [ Marks : 21 

¼tho foKku½¼tho foKku½¼tho foKku½¼tho foKku½    

                (Life Science)      

18. fuEufyf[kr esa ls dkSu&lk rhljs iks"kh Lrj ij vkrk gS \ 1 

 (A) izkFkfed miHkksDrk  

 (B) f}rh;d miHkksDrk 

 (C) r̀rh;d miHkksDrk  

 (D) buesa ls dksbZ ugha 

 Which of the following come at third trophic   level ? 

 (A) Primary consumers  

 (B) Secondary consumers 
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 (C) Tertiary consumers 

 (D) None of these 

19. IySlsaVk fdlesa /kalk gksrk gS \ 1 

 (A) vaMokfgdk esa (B) ;ksfu esa 

 (C) xzhok esa (D) xHkkZ'k; esa 

 Placenta is embedded in : 

 (A) Oviduct (B) Vagina 

 (C) Cervix (D) Uterus 

20. es#jTtk fdlls jf{kr gksrh gS \ 1 

 (A) diky  (B) d'ks#dnaM 

 (C) ilyh  (D) buesa ls dksbZ ugha 

 Spinal cord is protected by : 

 (A) Cranium (B) Vertebral column 

 (C) Ribs  (D) None of these 

21. lkbVksdkbfuu ds D;k dk;Z gSa \ 1 

 What are the functions of cytokinins ? 

22. mPp ÅtkZ okys ijkcSaxuh fofdj.k vkWDlhtu v.kqvksa (O2) dks fo?kfVr dj ----------- ijek.kq 
¼,sVe½ cukrs gSaA 1 
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 The higher energy UV radiations split apart some molecular oxygen into 

……….. atom. 

23. ijkx.k fdls dgrs gSa \ Loijkx.k vkSj ijijkx.k ds ckjs esa fyf[k,A 2 

 What is Pollination ? Write about self and cross pollination. 

24. fdl tho esa [kaMu gksrk gS \ bl fof/k ds ckjs esa fyf[k,A 2 

 In which organism fragmentation occur ? Write about its process. 

25. vk;ksMhu ;qDr ued dks iz;ksx djus dh lykg D;ksa nh tkrh gS \ voVqxzafFk }kjk òkfor gkWeksZu 

ds dk;ksZa dks fyf[k,A 2 

 Why is the use of iodised salt advisable ? Write the functions of the 

hormone secreted by thyroid gland. 

26. ekuo esa cPps dk fyax fu/kkZj.k dSls gksrk gS \ 4 

 How is the sex of the child determined in human beings ? 

27. (a) ,d iÙkh dh vuqizLFk dkV dk ukekafdr fp= cukb,A 3 

  Draw a well labelled diagram of cross-section of leaf. 
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 (b) xSlksa ds fofue; ds fy, ekuo&Qq¶Qql esa vf/kdre {ks=Qy dks dSls vfHkdfYir fd;k 

gS \ 3 

  How are the lungs designed in human beings to maximize the area 

for exchange of gases ? 

vFkokvFkokvFkokvFkok    

OR 

 ekuo ân; dh dk;Ziz.kkyh dk o.kZu dhft,A 6 

 Describe the working of human heart. 

SSSS     
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• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk 
mÙkj u dkVsaA 

Except answer-book, no extra sheet will be given. Write to the point and do 

not strike the written answer. 

• ijh{kkFkhZ viuk jksy ua0 iz'u-i= ij vo'; fy[ksaA 

Candidates must write their Roll Number on the question paper. 

• d`i;k iz'uksa ds mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds ijh{kk ds ijh{kk ds ijh{kk ds 
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Before answering the question, ensure that you have been supplied the 

correct and complete question paper, no claim in this regard, will be 

entertained after examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %        
General Instructions : 

        (i)    lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    
            All questions are compulsory.    
        (ii)    oLrqfu"B iz'uksa ds lgh lgh lgh lgh fodYi    fy[ksaA 
            Write the correct option in objective type questions. 

  (iii) nh?kZ mÙkj okys iz'uksa esa vkarfjd fodYi dk izko/kku gSA 
   Internal choice has been provided in long answer type questions. 

  (iv) izR;sd iz'u ds vad mlds lkeus n'kkZ;s x;s gSaA 
   Marks of each question are indicated against it. 

[k.M [k.M [k.M [k.M –    vvvv    

    SECTION – A  [ Marks : 20 
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¼HkkSfrd foKku¼HkkSfrd foKku¼HkkSfrd foKku¼HkkSfrd foKku½½½½ 
    (Physics)      

  1. og O;fDr tks fofHkUu jaxksa dh igpku djus esa vleFkZ gks] rks og fdl jksx ls xzflr gksrk gS 
\ 1 

 (A) eksfr;kfcan  
 (B) jaxkU/krk 
 (C) (A) rFkk (B) nksuksa 
 (D) buesa ls dksbZ ugha 

 A person who is unable to recognize different colours suffers from : 

 (A) Cataract 

 (B) Colour blindness 

 (C) Both (A) & (B) 

 (D) None of these 

  2. lw;ksZn; rFkk lw;kZLr ds le;] lw;Z ds jDrkHk izrhr gksus dk dkj.k izdk'k dh dkSu&lh fdj.kksa 
dk T;knk izdh.kZ gksuk gS \ 1 

 (A) yky jax (B) uhyk jax 

 (C) (A) rFkk (B) nksuksa (D) buesa ls dksbZ ugha 

 At the time of sunrise or sunset, the cause of reddening of Sun is due 

to the scattering of which rays of light ? 

 (A) Red rays (B) Blue rays 

 (C) Both (A) & (B) (D) None of these 
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  3. fdlh /kkrq ds ,d leku pkyd dk izfrjks/k fuHkZj djrk gS % 1 

 (A) pkyd dh yackbZ ij 

 (B) mlds vuqizLFk dkV ds {ks=Qy ij 

 (C) inkFkZ dh izÑfr ij 

 (D) mijksDr lHkh ij 

 The resistance of a uniform metallic conductor depends on : 

 (A) Length of conductor 

 (B) Area of cross-section 

 (C) Nature of material 

 (D) All of the above 

  4. fdlh IysV dks Å¡pkbZ ls fxjkus ij ---------- dk vf/kdka'k Hkkx Q'kZ ls Vdjkrs le; /ofu 
ÅtkZ esa ifjofrZr gks tkrk gSA 1 

 (A) xfrt ÅtkZ  

 (B) fLFkfrt ÅtkZ 

 (C) (A) rFkk (B) nksuksa  

 (D) buesa ls dksbZ ugha 

 When a plate is dropped from a height, at the time it hit the ground, 

the maximum part of its …….. is converted into sound energy. 

 (A) Kinetic energy  

 (B) Potential energy 

 (C) Both (A) & (B)  

 (D) None of these 
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  5. rjax ÅtkZ D;k gksrh gS \ laf{kIr o.kZu dhft,A 2 

 What is wave energy ? Explain in brief. 

  6. fdlh 6 Ω ds izfrjks/kd ls 125 J Å"ek izfr lsds.M mRiUu gks jgh gSA izfrjks/kd ds fljksa 

ij foHkokarj Kkr dhft,A 2 

 A 6 Ω resistance emits heat energy at the rate of 125 J/s. Find the 

potential difference across the resistor. 

  7. vkius i;kZoj.k dks cpkus ds fy, rhu izdkj ds 'R' ds fo"k; esa rks vo'; lquk gksxk %  

 de mi;ksx (Reduce), iqu% pØ.k (Recycle) vkSj iqu% mi;ksx (Reuse). ßiqu% mi;ksxÞ 

dk o.kZu foLrkj ls djsaA 

 You must have come across the three 'R's to save the environment : 

 Reduce, Recycle and Reuse. Explain Reuse in detail. 

  8. (a) ysal dh {kerk D;k gksrh gS \ fdlh ysal dh ,d Mk;ksIVj (1D) {kerk dks ifjHkkf"kr 

dhft,A 2 

  What is the power of a Lens ? Define one Dioptre (1D) power of a 

lens. 

 (b) dksbZ oLrq vory niZ.k ds oØrk dsanz (c) ij fLFkr gSA ml oLrq ds izfrfcac dh fLFkfr] 
lkbt+ rFkk izÑfr dks js[kkfp= ds }kjk n'kkZb,A   2 
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  An object is placed at the centre of curvature (c) of a concave 

mirror. Draw the ray diagram to depict the position, size and the 

nature of image formed. 

  9. ,d izR;korhZ fo|qr /kkjk (a.c.) tfu= ds fl)kar] lajpuk rFkk dk;Zfof/k dk foLr`r o.kZu 
dhft,A 6 

 Explain in detail, the principle, construction and working of an 

alternating current (a.c.) generator. 

vFkokvFkokvFkokvFkok    

OR 

 (a) fdlh NM+ pqacd ds pkjksa vksj pqacdh; {ks= js[kkvksa dks vkjsf[kr dhft,A  
 2 

  Draw the magnetic lines of force around a bar magnet. 

 (b) ifjukfydk ls vkidk D;k vfHkizk; gS \ ,d ifjukfydk esa izokfgr fo|qr /kkjk ds 

dkj.k mRiUu pqacdh; {ks= dks vkjsf[kr dhft,A ifjukfydk ds mi;ksx ij Hkh izdk'k 

Mkfy,A   4 

  What is a Solenoid ? Draw the magnetic field around a current 

carrying solenoid. Also mention the use of a solenoid. 

[k.M [k.M [k.M [k.M –    cccc    

    SECTION – B  [ Marks : 19 

¼jlk;u foKku½¼jlk;u foKku½¼jlk;u foKku½¼jlk;u foKku½ 

    (Chemistry)   
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10. )()(2)(2 2 gBrsAgsAgBr + →
kizdk'dkZlw;

 

 Åij nh xbZ vfHkfØ;k dk mi;ksx gksrk gS % 1 

 (A) osfYMax esa 

 (B) ';ke&'osr QksVksxzkQh esa 

 (C) nhokjksa dks lQsnh djus esa 

 (D) la{kkj.k dks jksdus ds fy, 

 )()(2)(2 2

Sunlight
gBrsAgsAgBr + →   

 the above reaction is used in : 

 (A) Welding 

 (B) Black & white photography 

 (C) White washing walls 

 (D) To prevent corrosion 

11. ty dh LFkk;h dBksjrk dks gVkus ds fy, fdl lksfM;e ;kSfxd dk mi;ksx gksrk gS \ 1 

 (A) 3NaHCO  (B) NaOH  

 (C) 42SONa  (D) OHCONa 232 10.  

 Which sodium compound is used for removal of permanent hardness of 

water ? 

 (A) 3NaHCO  (B) NaOH  

 (C) 42SONa  (D) OHCONa 232 10.  
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12. fuEu esa ls fdl rRo esa dqy rhu dks'k gSa rFkk la;kstdrk dks'k esa pkj bysDVªkWu gSa \ 1 

 (A) flfydkWu (Si ) (B) ,Y;qehfu;e (Al ) 

 (C) eSXuhf'k;e (Mg) (D) lksfM;e (Na) 

 Which of the following element has a total of three shells with four 

electron in its valence   shell ? 

 (A) Silicon (Si ) (B) Aluminium (Al ) 

 (C) Magnesium (Mg) (D) Sodium (Na) 

13. tc yksgs dh dhy dks dkWij lYQsV ds foy;u esa Mqcks;k tkrk gS] rks foy;u dk jax D;ksa cny 

tkrk gS \ blds fy, jklk;fud lehdj.k Hkh nhft,A 2 

 Why does the colour of copper sulphate solution change when an iron 

nail is dipped in it ? Give chemical equation for it. 

14. mnklhuhdj.k vfHkfØ;k D;k gS \ ,d mnkgj.k nhft,A 2 

 What is neutralization reaction ? Give one example. 

15. fuEufyf[kr rRoksa esa ls /kkrqvksa o mi/kkrqvksa dks igpkusa % 2 

 lksfM;e (Na), flfydkWu (Si), tesZfu;e (Ge), fyfFk;e (Li). 

 Identify the metals and metalloids in the following elements : 

 Sodium (Na), Silicon (Si), Germanium (Ge), Lithium (Li). 
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16. (i) fuEu dks ifjHkkf"kr dhft, % 2 

  Define the following : 

  (a) [kfut  

   Mineral 

  (b) xSax 

   Gangue 

 (ii) fuEu vfHkfØ;kvksa ds fy, jklk;fud lehdj.k fyf[k, % 2 

  Write the chemical equation for the following reactions : 

  (a) vk;ju dh Hkki ds lkFk 

   Iron with steam 

  (b) dSfYl;e dh ty ds lkFk 

   Calcium with water 

17. (i) csUthu dk lw= fyf[k, ,oa bldh lajpuk fpf=r dhft,A 2 

  Write the formula of benzene and draw its structure. 

 (ii) dBksj vkSj e`nq ty esa vUrj Li"V dhft,A 2 

  Differentiate between Hard water and Soft  water. 

 (iii) ,FkukWy dSls vkSj D;ksa foÑr fd;k tkrk gS \ 2 
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  How and why ethanol is denaturated ? 

vFkokvFkokvFkokvFkok    

OR 

 (i) dkcZu ,oa mlds ;kSfxdksa dk mi;ksx vf/kdrj vuqiz;ksxksa esa bZa/ku ds :i esa D;ksa fd;k 

tkrk gS \ 3 

  Why are carbon and its compound used as fuels for most 

applications ? 

 (ii) ,FksukWbd vEy dks XyS'ky ,slhfVd vEy D;ksa dgrs gSa \ 2 

  Why is Ethanoic acid named as Glacial Acetic acid ? 

 (iii) fljdk jklk;fud :i ls D;k gS \ 1 

  What is Vinegar chemically ? 

    [k.M [k.M [k.M [k.M – llll    

    SECTION – C  [ Marks : 21 

¼tho foKku½¼tho foKku½¼tho foKku½¼tho foKku½    

                (Life Science)      
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18. fuEufyf[kr esa ls fdlesa CFCs dk mi;ksx fd;k tkrk gS \ 1 

 (A) jsÝhtjsVj esa 

 (B) vfXu'keu esa 

 (C) (A) vkSj (B) nksuksa esa 

 (D) buesa ls dksbZ ugha 

 In which of the following CFCs is used ? 

 (A) Refrigerator 

 (B) Fire extinguisher 

 (C) Both (A) & (B) 

 (D) None of these 

19. fuEufyf[kr esa ls fdl okgd }kjk ijijkx.k laiUu gksrk gS \ 1 

 (A) ok;q  (B) ty 

 (C) izk.kh  (D) ;s lHkh 

 Cross pollination is achieved by which of the following agents ? 

 (A) Wind (B) Water 

 (C) Animals (D) All of these 

20. fuEufyf[kr esa ls dkSu&lh xzafFk gkWeksZu vkSj ,atkbe nksuksa òkfor djrh gS \ 1 
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 (A) voVq  (B) ijkoVq 

 (C) vf/ko`Dd (D) vXU;k'k; 

 Which of the following gland secrete both hormones and enzymes ? 

 (A) Thyroid (B) Parathyroid 

 (C) Adrenal (D) Pancreas 

21. ftCcsjsfyu ds D;k dk;Z gSa \ 1 

 What are the functions of Gibberellin ? 

22. ----------- ijr lw;Z ls vkus okyh ijkcSaxuh fofdj.k ls i`Foh dks lqj{kk iznku djrh gSA 1 

 ………… layer shields the surface of earth from ultraviolet radiation 

from the sun. 

23. _rqòko D;ksa gksrk gS \ 2 

 Why does menstruation occur ? 

24. gkbMªk esa eqdqyu dk o.kZu dhft,A 2 

 Describe budding in Hydra. 

25. vxzefLr"d ds D;k dk;Z gSa \ 2 

 What are the functions of forebrain ? 

26. esaMy ds iz;ksxksa ls dSls irk pyk fd fofHkUu y{k.k Lora= :i ls oa'kkuqxr gksrs gSa \ 4 
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 How do Mendel's experiments show that traits are inherited 

independently ? 

27. (a) ekuo ikpu ra= dk ukekafdr fp= cukb,A 3 

  Draw a well labelled diagram of human digestive system. 

 (b) olk dh ikpu fØ;k dk o.kZu dhft,A 3 

  Describe the process of digestion of fat. 

vFkokvFkokvFkokvFkok    

OR 

 ok"iksRltZu D;k gS \ ;g fdl izdkj gksrk gS \ bldh D;k Hkwfedk gS \   
 6 

 What is transpiration ? How does it take place ? What is its role ? 

SSSS     
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• d`i;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr iz'u 27 gSaA  

Please make sure that the printed question paper are contains 27 

questions. 

• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsV lsV lsV lsV dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B 
ij fy[ksaA 

The Code No. and Set on the right side of the question paper should be 

written by the candidate on the front page of the answer-book. 

• d`i;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

Before beginning to answer a question, its Serial Number must be written. 

• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 

Don't leave blank page/pages in your answer-book. 

SET : D 
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• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk 
mÙkj u dkVsaA 

Except answer-book, no extra sheet will be given. Write to the point and do 

not strike the written answer. 

• ijh{kkFkhZ viuk jksy ua0 iz'u-i= ij vo'; fy[ksaA 

Candidates must write their Roll Number on the question paper. 

• d`i;k iz'uksa ds mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds ijh{kk ds ijh{kk ds ijh{kk ds 
mijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA 

Before answering the question, ensure that you have been supplied the 

correct and complete question paper, no claim in this regard, will be 

entertained after examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %        

General Instructions : 

        (i)    lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

            All questions are compulsory.    

        (ii)    oLrqfu"B iz'uksa ds lgh lgh lgh lgh fodYi    fy[ksaA 

            Write the correct option in objective type questions. 

  (iii) nh?kZ mÙkj okys iz'uksa esa vkarfjd fodYi dk izko/kku gSA 

   Internal choice has been provided in long answer type questions. 

  (iv) izR;sd iz'u ds vad mlds lkeus n'kkZ;s x;s gSaA 

   Marks of each question are indicated against it. 
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[k.M [k.M [k.M [k.M –    vvvv    

    SECTION – A  [ Marks : 20 

¼HkkSfrd foKku¼HkkSfrd foKku¼HkkSfrd foKku¼HkkSfrd foKku½½½½ 
    (Physics)      

  1. fudV&n`f"V nks"k esa fn[kkbZ ughaughaughaugha nsrh % 1 

 (A) fudV dh oLrq,¡ 

 (B) nwj dh oLrq,¡ 

 (C) (A) rFkk (B) nksuksa 

 (D) buesa ls dksbZ ugha 

 In Myopia, a person can not see : 

 (A) Nearby objects 

 (B) Distant objects 

 (C) Both (A) & (B) 

 (D) None of these 

  2. vfxze lw;ksZn; rFkk foyafcr lw;kZLr dk eq[; dkj.k gS izdk'k dk %   

 (A) viorZu (B) ijkorZu 

 (C) (A) rFkk (B) nksuksa (D) buesa ls dksbZ ugha 

 The main reason behind the advanced sunrise and delayed sunset is 

the ……. of light. 

 (A) Refraction (B) Reflection 

 (C) Both (A) & (B) (D) None of these 
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  3. fuEufyf[kr esa ls dkSu&lk ;a= foHkokarj dks ekius ds fy, mi;ksx esa yk;k tkrk gS \ 
   

 (A) vehVj 

 (B) oksYVehVj 

 (C) (A) rFkk (B) nksuksa  

 (D) buesa ls dksbZ ugha 

 Which of the following can be used to measure the potential difference 

? 

 (A) Ammeter 

 (B) Voltmeter 

 (C) Both (A) & (B) 

 (D) None of these 

  4. eksecÙkh ds tyus ij jklk;fud ÅtkZ ifjofrZr gks tkrh gS % 1 

 (A) Å"eh; ÅtkZ esa  

 (B) izdk'k ÅtkZ esa 

 (C) (A) rFkk (B) nksuksa esa 

 (D) buesa ls dksbZ ugha 

 During the burning of a candle, the chemical energy converts into : 

 (A) Heat energy  

 (B) Light energy 

 (C) Both (A) & (B)  

 (D) None of these 
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  5. ÅtkZ ds vkn'kZ òksr esa D;k xq.k gksrs gSa \ 2 

 What are the properties of a good source of energy ? 

  6. 2Ω, 3Ω rFkk 6Ω ds izfrjks/kdksa dks fdl izdkj la;ksftr fd;k tk;s fd la;kstu dk dqy 

izfrjks/k 1Ω gks \ 2 

 How can three resistors of resistances 2Ω, 3Ω and 6Ω be connected to 

give a total resistance    of 1Ω ? 

  7. vkius i;kZoj.k dks cpkus ds fy, rhu izdkj ds 'R' ds fo"k; esa rks vo'; lquk gksxk % 

  2 

 de mi;ksx (Reduce), iqu% pØ.k (Recycle) vkSj iqu% mi;ksx (Reuse)A ßiqu% pØ.kÞ dk 

o.kZu foLrkj ls djsaA 

 You must have come across the three 'R's to save the environment : 

 Reduce, Recycle and Reuse. Explain Recycle in detail. 

  8. (a) dksbZ oLrq mÙky ysal ds eq[; Qksdl (F ) rFkk izdkf'kd dsanz (O) ds e/; fLFkr gSA ml 

oLrq dh fLFkfr] lkbt+ rFkk izÑfr dk js[kkfp= cukb,A  2 

  An object is situated at a position in between the main focus (F ) 

and optic centre (O) of a convex lens. Draw the ray diagram 

showing the position, size and nature of the image formed. 

 (b) ysal dh {kerk D;k gksrh gS \ fdlh ysal dh ,d Mk;ksIVj (1D) {kerk dks ifjHkkf"kr 
dhft,A 2 
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  What is the power of a Lens ? Define one Dioptre (1D) power of a 

lens. 

  9. ,d fo|qr eksVj ds fl)kar] lajpuk rFkk dk;Zfof/k dk foLr`r o.kZu dhft,A 6 

 Explain in detail, the principle, construction and working of an electric 

motor. 

vFkokvFkokvFkokvFkok    

OR 

 (a) fo|qr ifjiFkksa rFkk lkf/k=ksa esa lkekU;r% mi;ksx gksus okys nks lqj{kk mik;ksa ds uke 
fyf[k, rFkk mudh dk;Zfof/k le>kb,A   4 

  What are the two safety measures commonly used in electric 

circuits and appliances ? Explain their working. 

 (b) fdlh NM+ pqacd ds pkjksa vksj pqacdh; {ks= js[kkvksa dks vkjsf[kr dhft,A  

 2 

  Draw the magnetic field lines around a bar magnet. 

[k.M [k.M [k.M [k.M –    cccc    

    SECTION – B  [ Marks : 19 

¼jlk;u foKku½¼jlk;u foKku½¼jlk;u foKku½¼jlk;u foKku½ 

    (Chemistry)   

10. fuEu esa ls Å"ek{ksih vfHkfØ;k dkSu&lh gS \ 1 

 (A) dSfYl;e dkcksZusV dk Å"ek }kjk fo;kstu 

 (B) flYoj DyksjkbM dk lw;Z ds izdk'k ls fo;kstu 
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 (C) ouLifr nzO; dk daiksLV esa fo?kVu 

 (D) ysM ukbVªsM dk Å"ek }kjk vi?kVu 

 Which of the following is exothermic reaction ? 

 (A) Decomposition of calcium carbonate by heat 

 (B) Decomposition of silver chloride by sunlight 

 (C) Decomposition of vegetable matter into compost 

 (D) Decomposition of lead nitrate by heat 

11. ml inkFkZ dk uke crkb, tks Dyksjhu ls vfHkfØ;k djds fojatd pw.kZ cukrk gS % 1 

 (A) ftIle )2.( 24 OHCaSO   

 (B) cq>k gqvk pwuk ])([ 2OHCa  

 (C) fcuk cq>k pwuk (CaO)  

 (D) pwuk iRFkj )( 3CaCO  

 Name the substance which on treatment with chlorine yields bleaching 

powder : 

 (A) Gypsum )2.( 24 OHCaSO   

 (B) Slaked lime ])([ 2OHCa  

 (C) Quick lime (CaO)  

 (D) Lime stone )( 3CaCO  

12. fuEu esa ls fdl rRo esa dqy nks dks'k gSa rFkk la;kstdrk dks'k esa rhu bysDVªkWu gSa \ 1 
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 (A) cksjkWu (B) (B) dkcZu (C) 

 (C) ukbVªkstu (N) (D) vkWDlhtu (O) 

 Which of the following element has a total of  two shells, with three 

electrons in its valence   shell ? 

 (A) Boron (B) (B) Carbon (C) 

 (C) Nitrogen (N) (D) Oxygen (O) 

13. fuEu vfHkfØ;k ds fy, larqfyr jklk;fud lehdj.k fyf[k, % 2 

 ,Y;qehfu;e $ dkWij DyksjkbM → ,Y;qehfu;e DyksjkbM $ dkWij 

 Write the balanced chemical equation for the following reaction : 

 Aluminium + Copper Chloride → Aluminium Chloride + Copper 

14. ihry ,oa rk¡cs ds crZuksa esa ngh ,oa [kV~Vs inkFkZ D;ksa ugha j[kus pkfg, \ 2 

 Why should curd and sour substances not be kept in Brass and Copper 

vessels ? 

15. leLFkkfud D;k gksrs gSa \ ,d mnkgj.k nhft,A 2 

 What are Isotopes ? Give one example. 

16. (a) fuLrkiu vkSj HktZu esa vUrj Li"V dhft,A 2 
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  Differentiate between Calcination and Roasting. 

 (b) nksnksnksnks /kkrqvksa ds uke crkb, tks ruq vEy ls gkbMªkstu dks foLFkkfir dj nsaxs rFkk nksnksnksnks  
/kkrq,¡ tks ,slk ugha dj ldrhaA   2 

  Name two metals which will displace hydrogen from dilute acids 

and two metals which will not. 

17. (a) fo"ke ijek.kq o vuqyXu fdls dgrs gSa \ mnkgj.k lfgr le>kb,A 3 

  Define the terms Hetero-atom and a suffix. Explain with examples. 

 (b) ClCH3  esa vkca/k fuekZ.k dk mi;ksx dj lgla;kstd vkca/k dh izÑfr le>kb,A 2 

  Explain the nature of covalent bond using the formation of bond in 

ClCH3 . 

 (c) lkbDyksgsDlsu dh lajpuk fpf=r dhft,A 1 

  Draw structure of Cyclohexane. 

vFkokvFkokvFkokvFkok    

OR 

 (i) lajpukRed leko;o ls vki D;k le>rs gSa \ ,d mnkgj.k nhft,A 2 

  What do you mean by structural isomers ? Give one example. 

 (ii) ouLifr rsy ,oa tarq olk esa ls dkSu&lk LokLF;o/kZd gS vkSj D;ksa \  

 2 
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  Which is good for health – a vegetable oil or Animal fat and why ? 

 (iii) fMVjtsaV dBksj ty esa Hkh izHkkoh gksrs gSaA fVIi.kh dhft,A  

2 

  Detergents are effective in Hard Water also. Comment. 

    [k.M [k.M [k.M [k.M – llll    

    SECTION – C  [ Marks : 21 

¼tho foKku½¼tho foKku½¼tho foKku½¼tho foKku½    

                (Life Science)      

18. fuEufyf[kr esa ls dkSu&lh xzafFk o`f) gkWeksZu òkfor djrh gS \ 1 

 (A) vXU;k'k; (B) vf/ko`Dd 

 (C) ih;w"k  (D) ijkoVq 

 Which of the following gland secretes growth hormone ? 

 (A) Pancreas (B) Adrenal 

 (C) Pituitary (D) Parathyroid 

19. fuEufyf[kr esa ls fdlesa cgq[kaMu gksrk gS \ 1 

 (A) vehck  esa (B) ysLekfu;k esa 
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 (C) (A) vkSj (B) nksuksa esa (D) IySt+eksfM;e esa 

 In which of the following multiple fission     occur  ? 

 (A) Amoeba (B) Leishmania 

 (C) Both (A) & (B) (D) Plasmodium 

20. fuEufyf[kr esa ls dkSu&lk gkWeksZu ikniksa dh o`f) esa lgk;rk djrk gS \ 1 

 (A) vkWfDlu (B) ftCcsjsfyu 

 (C) lkbVksdkbfuu (D) ;s lHkh 

 Which of the following hormone promote the growth in plants ? 

 (A) Auxin (B) Gibberellins 

 (C) Cytokinin (D) All of these 

21. 'kqØk.kq dh iw¡N dk D;k dk;Z gS \ 1 

 What is the function of sperm tail ? 

22. gksekslSfi;al dk mn~Hko ----------- esa gqvkA 1 

 Origin of Homosapiens occurred in ………… . 

23. ekuo fodkl ds v/;;u ds eq[; lk/kuksa dks fyf[k,A 2 
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 Write down various tools which are used to study human evolution. 

24. ^^ikfjra= esa ÅtkZ dk izokg ,d gh fn'kk esa gksrk gS**] o.kZu dhft,A 2 

 "Flow of energy is unidirectional in ecosystem", explain. 

25. nks raf=dk dksf'kdkvksa ds e/; varxzZFku esa D;k gksrk gS \ 2 

 What happens at synapse between two     neurons ? 

26. fofHkUurk ds egÙo dk o.kZu dhft,A 4 

 Describe the importance of variation. 

27. mRltZu D;k gS \ ukekafdr fp= dh lgk;rk ls o`Ddk.kq dh lajpuk dk o.kZu dhft,A 6 

 What is Excretion ? Describe the structure of nephron with the help of 

well labelled diagram. 

vFkokvFkokvFkokvFkok    

OR 

 ltho viuk Hkkstu fdl izdkj izkIr djrs gSa \ 6 

 How do living things get their food ? 
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